H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

S5E12818 ~ _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.5 15 L 11.7 0.00 90 1013.6
2 25.1 3.0 RiLE 10.2 0.00 94 1013.2
3 242 3.0 EB 3 1.9 0.00 94 10128
4 25.6 5.0 1A 15.8 0.00 93 1012.4
5 26.5 0.0 b= 10.7 0.00 88 1013.0
6 245 0.0 = 114 0.00 92 10138
7 255 0.5 BlE 9.3 0.00 88 1014.3
8 26.2 0.0 L 10.5 0.48 87 1015.0
9 25.1 2.0 = 75 0.00 91 1015.3
10 25.6 05 tE 111 0.25 90 10148
11 26.2 0.0 miLE 8.7 0.50 88 1014.4
12 246 1.0 = 9.6 0.27 93 1013.9
13 245 40 = 7.2 0.00 94 10135
14 246 6.5 RILE 58 0.00 94 1013.0
15 26.1 0.0 b= 59 0.00 85 1012.9
16 26.7 0.0 tix 8.1 0.45 88 1012.8
17 244 16.5 EB % 115 0.08 93 10132
18 25.3 15 HiLE 8.0 0.00 92 1014.0
19 254 1.0 iz 6.5 0.00 94 1014.1
20 26.5 0.5 Jt= 12.9 0.00 86 1014.4
21 26.6 0.0 1A 13.4 0.00 85 1014.6
22 25.7 0.5 b= 12.4 0.00 91 10148
23 246 15 Jt= 8.9 0.00 94 1014.9
24 25.1 40 BlE 13.7 0.00 89 1014.6
HExA 26.7 16.5 15.8 94 1015.3
B/ 242 0.0 58 85 1012.4
- HEW 255 10.1 91 1013.9
Bt 525 2.03
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF54E12828 _ _
2l Kim & EN JEBES H FR i i KE
B °C mm 165 fiL m.’s h % hPa
i 24.8 15 13 145 0.00 91 1013.9
2 26.5 0.5 1A 15.6 0.00 78 10133
3 26.5 0.0 13 15.4 0.00 78 10132
4 26.5 0.0 1A 143 0.00 75 1012.9
5 26.4 0.0 E[A: 143 0.00 75 1013.6
6 26.3 0.0 &= 147 0.00 72 1014.4
7 26.3 0.0 E[%: 14.1 0.00 76 1015.2
8 26.5 0.0 13 14.7 0.50 73 1015.9
9 26.7 0.0 = 14.5 0.45 72 1016.1
10 26.8 0.0 RiLE 14.7 1.00 67 1015.9
1 26.9 0.0 & 142 1.00 7 1015.6
12 27.0 0.0 ET%: 12.6 1.00 75 1015.1
13 26.8 0.0 &= 14.0 1.00 73 1014.3
14 26.6 0.0 1A 14.8 0.98 75 1014.0
15 26.8 0.0 13 13.0 0.98 73 1014.1
16 26.7 0.0 Jt= 145 0.97 71 1014.2
17 26.7 0.0 JE 13.9 0.17 70 1014.7
18 26.6 0.0 &= 143 0.00 74 1015.1
19 26.5 0.0 E[3: 14.3 0.00 74 1015.7 |
20 25.6 0.0 13 14.1 0.00 80 1016.0
21 26.1 0.0 Jt= 14.4 0.00 75 1016.2
22 26.5 0.0 E[A: 14.1 0.00 76 1016.1
23 26.4 0.0 & 133 0.00 76 1016.0
24 26.4 0.0 E[%: 13.6 0.00 74 10155 |
B&X 27.0 1.5 15.6 91 1016.2
A&/ 248 0.0 12.6 67 1012.9
BEES5 26.5 142 75 1014.9
aat 2.0 8.05
BERNT—%
AEEFEHH °C AEFHA °C
RE&SE | HI365 36.1 BESE | H202.17 17.7
ARFHH| hPa HEFHH| hPa
RESE | H5322 | 10245 BIESE | H1411.24 | 9367
EFEE HH] _mm/day EREAH] m/s
SABFE H10.11.26 | 2125 BAEE | H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF54E12838 ~ _
(s Kum S B[R] J2E =EEE D i [UE
i=3 °C mm 1651 m.”'s h % hPa
1 26.3 0.0 jt= 135 0.00 75 1015.3
2 26.4 0.0 1A 135 0.00 75 1015.0
3 26.3 0.0 jt= 13.0 0.00 74 10145
4 26.2 0.0 Jt= 12.0 0.00 73 1014.4
5 26.4 0.0 &= 12.0 0.00 72 1014.7
6 26.3 0.0 jt= 114 0.00 72 1015.4
7 26.5 0.0 Jb= 11.6 0.00 75 1016.0
8 26.7 0.0 RiLE 114 0.85 77 1016.4
9 270 0.0 EE[A 10.6 0.67 74 1016.4
10 26.9 0.0 =iLE 11.0 1.00 72 1016.0
11 26.9 0.0 jt= 11.7 1.00 73 1015.4
12 26.8 0.0 ET%: 125 0.10 74 1014.9
13 26.8 0.0 jt= 12.7 0.17 75 1014.3
14 26.8 0.0 1A 12.7 0.68 75 1014.0
15 26.8 0.0 jt= 12.8 0.90 74 1013.9
16 26.7 0.0 Jt= 12.7 057 78 1014.2
17 26.4 0.0 &= 14.6 0.03 79 1014.8
18 265 0.0 jt= 125 0.00 77 1015.3
19 26.5 0.0 E[3: 13.1 0.00 78 1015.6
20 26.6 0.0 jt= 132 0.00 76 1016.1
21 26.6 0.0 1A 12.6 0.00 75 1016.0
22 26.6 0.0 Jt= 125 0.00 74 1015.9
23 26.7 0.0 Jt= 125 0.00 74 1015.8
24 26.6 0.0 tE 116 0.00 75 1015.2
H&X 27.0 0.0 14.6 79 1016.4
BEEDD 26.2 0.0 10.6 72 1013.9
By 26.6 124 75 1015.2
&t 0.0 5.97
BERNT—%
AEFHH °C AEFHH °C
2=%:8 [ H1365 36.1 SiESE [ H20.2.17 17.7
AEFAH hPa AERFAR hPa
E=5FE [ H53.22 10245 SIESE [H141124 [ 9367
A H] mm/day EReEHH m.”'s
SABEFmE HI01126 | 2125 SREE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

451240 N N .
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.6 0.0 HiLE 1.4 0.00 74 1014.6
2 26.7 0.0 & 12.0 0.00 76 1014.0
3 26.5 0.0 Jte= 1.9 0.00 73 1013.3
4 26.5 0.0 1A 12.0 0.00 76 10130
5 26.4 0.0 HiLE 10.7 0.00 77 1013.6
6 26.6 0.0 Jt= 1.2 0.00 75 1014.4
7 26.7 0.0 E[%: 10.9 0.00 74 1014.8
8 27.1 0.0 Jte= 1.3 0.58 75 1015.3
9 272 0.0 Jt= 1.4 0.97 74 1015.2
10 272 0.0 Jt= 18 0.98 73 10148
11 27.1 0.0 b= 12.0 0.90 74 1014.2
12 272 0.0 HlE 115 1.00 75 1013.0
13 26.9 0.0 L 12.2 1.00 75 1011.9
14 26.9 0.0 RiLE 118 1.00 75 10115 |
15 272 0.0 JtE= 1.6 1.00 74 1011.4
16 25.9 0.0 = 8.6 0.05 87 10115
17 25.7 0.0 HiLE 115 0.00 87 1011.9
18 26.2 15 [ 1.2 0.00 86 1012.2
19 26.2 0.0 HiE 10.1 0.00 87 1012.7
20 26.8 0.5 JtE= 8.3 0.00 83 1012.9
21 26.5 0.0 EE[A 9.7 0.00 84 1013.1
22 27.0 0.0 = 8.2 0.00 81 1013.1
23 26.4 0.0 Eab 5.2 0.00 87 1012.9
24 26.9 0.0 EE[A 95 0.00 82 10125
HExA 27.2 1.5 12.2 87 1015.3
B/ 25.7 0.0 5.2 73 1011.4
- HEW 26.7 10.7 78 1013.2
aat 2.0 7.48
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

S5 1285R N N N
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 27.6 0.0 Eb 85 0.00 72 1012.0
2 27.6 0.0 GE 8.2 0.00 72 1011.4
3 275 0.0 B = 7.7 0.00 72 1011.0
4 275 0.0 GE 78 0.00 71 1010.8
5 274 0.0 R R 8.1 0.00 72 1011.0
6 275 0.0 D 8.4 0.00 70 1011.6
7 27.7 0.0 ek 8.4 0.20 70 1012.0
8 28.0 0.0 - 9.1 1.00 70 1012.4
9 28.1 0.0 SR 10.6 1.00 69 1012.6
10 284 0.0 B = 9.1 1.00 67 10125
11 284 0.0 I 8.4 1.00 69 1011.6
12 28.4 0.0 R 8.7 1.00 67 1010.3
13 283 0.0 S 8.4 1.00 69 1009.7
14 28.4 0.0 ek 7.2 0.98 69 10095
15 28.3 0.0 Sl 6.0 0.97 69 1009.8
16 28.6 0.0 SR 5.9 1.00 68 1010.1
17 28.2 0.0 S 4.4 0.60 72 1010.9
18 279 0.0 5] 2.7 0.00 72 10116
19 278 0.0 ek 3.2 0.00 73 1011.9
20 277 0.0 Sl 1.6 0.00 74 1012.3
21 275 0.0 Elek 1.7 0.00 75 1012.1
22 275 0.0 Sl 2.8 0.00 75 1012.1
23 274 0.0 Sk 30 0.00 77 1011.9
24 274 0.0 Sl 3.9 0.00 75 1011.8
HExA 28.6 0.0 10.6 77 1012.6
B/ 274 0.0 1.6 67 10095
- HEW 27.9 6.4 71 1011.4
aEt 0.0 9.75
BERNT—%
EEFAB °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
FRCE A H mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF54E12868 _ _
ig#] Sum M= NG J2E B BE B i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 27.3 0.0 S 2.3 0.00 75 10115
2 27.1 0.0 ek 2.1 0.00 78 1011.0
3 27.1 0.0 Sl 2.6 0.00 77 1010.4
4 270 0.0 ek 2.6 0.00 77 1010.2
5 26.9 0.0 B R 1.6 0.00 78 1010.5
6 26.9 0.0 - 2.8 0.00 78 1011.0
7 275 0.0 ek 2.3 0.18 76 1011.6
8 28.1 0.0 Sl 2.8 1.00 75 1012.4
9 28.3 0.0 Ik 2.1 1.00 71 1012.8
10 28.8 0.0 R R 2.2 1.00 68 10125
11 28.6 0.0 I 2.7 1.00 68 1011.7
12 29.1 0.0 £ 1.8 1.00 66 1011.0
13 29.0 0.0 Sl 1.9 1.00 66 1010.2
14 294 0.0 I 0.9 0.97 62 1009.7 |
15 30.1 0.0 p| i} 0.7 1.00 62 1009.7
16 295 0.0 it E 0.3 1.00 61 1009.8
17 279 0.0 = 1.2 0.88 70 1010.1
18 27.3 0.0 Jte= 2.2 0.00 73 1010.7
19 274 0.0 E[3: 2.1 0.00 72 1011.3
20 27.3 0.0 Jte= 33 0.00 73 1011.7
21 272 0.0 tiE 26 0.00 74 1011.8
22 27.1 0.0 Jt= 30 0.00 75 10118
23 272 0.0 = 2.8 0.00 71 1011.3
24 26.9 0.0 BE 2.8 0.00 75 1011.2
H&X 30.1 0.0 3.3 78 1012.8
BEEDD 26.9 0.0 0.3 61 1009.7
H ¥ 27.9 2.2 72 1011.1
a&T 0.0 10.03
BERNT—%
EFEEFEE °C EkeFEHH °C
E=5E | HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EREAH m./’s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HH5F12A7H - _ _ _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 27.1 0.0 = 2.7 0.00 74 1011.1
2 26.9 0.0 3 2.6 0.00 76 1010.7
3 26.8 0.0 HEE 2.9 0.00 77 1010.4
4 26.8 0.0 = 2.2 0.00 77 1010.4
5 26.9 0.0 = 2.0 0.00 78 1010.7
6 27.0 0.0 = 19 0.00 79 1011.3
7 274 0.0 Bk 2.7 0.08 75 1011.9
8 27.6 0.0 - 3.2 1.00 71 1012.4
9 285 0.0 Bk 2.7 1.00 69 1012.8
10 28.6 0.0 HEE 2.0 1.00 68 1012.6
11 29.8 0.0 EE 0.9 1.00 62 1012.0
12 30.0 0.0 E[%: 05 1.00 64 1011.2
13 29.5 0.0 Jtat 1.2 0.78 68 1010.7
14 284 0.0 Jtit= 14 0.17 70 1010.1
15 29.0 0.0 jt= 0.6 1.00 64 1010.1
16 28.0 0.0 = 2.3 1.00 68 1010.2
17 277 0.0 HiLE 25 0.42 72 1010.7
18 275 0.0 jt= 41 0.00 75 10116
19 27.6 0.0 E[3: 5.2 0.00 75 1012.1
20 26.9 0.0 Jt= 7.1 0.00 78 1012.7
21 27.6 0.0 RILE 7.0 0.00 74 10128
22 27.6 0.0 EB % 6.2 0.00 72 10128
23 26.6 0.0 = 95 0.00 80 1012.6
24 25.9 0.0 BE 8.8 0.00 79 1012.3
HExA 30.0 0.0 9.5 80 1012.8
—B&/D 25.9 0.0 0.5 62 1010.1
H¥1y 27.7 3.4 73 10115
aat 0.0 8.45
BERNT—%
EEFAB °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF54E12888 _ _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.5 0.0 HiLE 55 0.00 77 1011.8
2 26.2 0.0 A 8.9 0.00 82 1011.4
3 26.4 0.0 Jt= 8.1 0.00 81 1010.8
4 26.6 0.0 EE[A 7.0 0.00 82 1010.6
5 27.6 0.0 = 8.6 0.00 75 1011.0
6 27.6 0.0 = 9.4 0.00 75 10115
7 276 0.0 = 10.1 0.00 78 1012.0
8 277 0.0 = 10.7 0.53 77 1012.6
9 279 0.0 = 10.8 0.92 74 10132
10 26.1 0.0 R R 12.7 0.77 86 1013.0
11 25.7 0.0 BEiLE 9.8 0.88 88 10126
12 27.6 0.0 = 8.9 0.92 81 10115
13 27.6 0.0 = 95 0.92 81 1010.6
14 273 0.0 BEiLE 116 0.82 81 1010.2
15 27.0 0.0 Ea 78 0.05 83 1010.2
16 26.9 0.0 = 8.8 0.00 83 1010.3
17 26.9 0.0 HiLE 10.3 0.00 87 1010.9
18 26.9 0.0 HiLE 105 0.00 87 1011.4
19 26.6 2.0 T 8.9 0.00 89 1012.0
20 26.4 0.0 Jt= 10.6 0.00 91 1012.4
21 26.2 0.5 EE[A 10.0 0.00 91 1012.4
22 26.0 120 EB % 12.7 0.00 93 1012.1
23 25.8 40 Jt= 12.6 0.00 93 10118
24 25.4 45 HE 14.1 0.00 94 1011.4
HExA 27.9 12.0 14.1 94 1013.2
B/ 25.4 0.0 55 74 1010.2
- HEW 26.8 9.9 84 1011.6
aat 230 581
BERNT—%
£EFHH °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF54E12898 ~ _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 25.8 2.0 HiLE 146 0.00 93 1011.3
2 25.1 2.0 EE[A 176 0.00 92 1010.8
3 25.3 0.5 EB 3 16.0 0.00 91 10105
4 248 0.0 EE[A 16.7 0.00 92 1010.6
5 25.6 0.5 EB % 16.4 0.00 89 1010.8
6 25.1 0.0 EB A 16.4 0.00 86 10115
7 255 0.5 EE[A 15.4 0.00 87 1012.3
8 25.7 0.0 EB 3 14.4 0.00 88 1012.8
9 26.0 0.0 EE[A 15.3 0.00 87 1013.0
10 26.1 0.0 HiLE 14.9 0.00 89 1012.6
11 26.4 0.0 = 12.9 0.82 87 1011.9
12 25.0 0.0 116 0.90 86 1011.1
13 26.8 0.0 Jt= 1.7 0.45 86 1010.2
14 26.2 1.0 HiLE 9.4 0.00 89 1010.0
15 27.1 0.0 = 78 0.00 85 1009.8
16 27.1 0.0 EaE 6.8 0.00 84 1009.8
17 27.0 0.0 HibE 56 0.05 86 1010.1
18 272 0.0 = 34 0.00 85 1010.6
19 27.1 0.0 EE[A 55 0.00 86 1011.2
20 275 0.0 Jt= 35 0.00 82 10115
21 26.5 5.0 1A 7.1 0.00 93 10115
22 26.4 0.0 Jt= 8.7 0.00 88 1011.6
23 26.4 0.0 miLE 6.8 0.00 88 1011.3
24 26.3 0.0 tE 6.2 0.00 87 1011.1
HExA 275 5.0 17.6 93 1013.0
BRI/ 248 0.0 34 82 1009.8
H¥EH 26.2 1.0 88 1011.2
aEt 115 2.22
BERNT—%
£EFHH °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F54£128108 ) _
ig#] Sum M= &[] JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.7 0.0 Jt= 49 0.00 85 1010.7
2 26.7 0.0 EE[A 33 0.00 87 1010.3
3 26.5 0.0 Jt= 45 0.00 88 1009.9
4 26.3 05 = 38 0.00 88 10095 |
5 26.3 0.0 HiLE 38 0.00 86 1009.8
6 26.7 0.0 Eb 5.2 0.00 86 1010.4
7 26.9 0.0 I 438 0.00 84 1011.1
8 27.0 0.0 - 5.1 0.72 83 10118
9 275 0.0 ENE 3.2 1.00 81 1012.3
10 279 0.0 HEE 1.2 0.95 78 1012.2
11 26.8 0.0 = 35 0.65 83 1011.4
12 275 0.0 = 55 0.47 79 1010.3
13 26.6 0.0 HiLE 6.8 0.58 89 1009.5
14 26.9 0.0 E[%: 7.0 0.03 83 1009.1
15 26.9 0.0 HiLE 6.7 0.27 81 1009.1
16 25.7 0.0 = 5.2 0.03 86 1009.4
17 26.6 2.0 = 58 0.00 89 1009.5
18 27.0 0.0 L 9.9 0.00 83 1009.9
19 25.9 0.5 RIiE 11.3 0.00 86 10105
20 26.8 0.0 Jt= 9.9 0.00 77 1010.9
21 26.8 0.0 t®= 10.5 0.00 85 1011.2
22 26.5 0.0 HiLE 18 0.00 88 1011.1
23 25.2 05 Jt= 125 0.00 93 1011.2
24 26.6 25 HE 11.8 0.00 87 1010.8
HExA 27.9 25 12.5 93 1012.3
B/ 25.2 0.0 1.2 77 1009.1
- HEW 26.7 6.6 85 1010.5
aat 6.0 4.70
BERNT—%
£EFHH °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIESE [ H14.11.24 936.7
EREAR mm/day EREAH m./’s
SXAmE[ H10.11.26 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SFH5E12A11E ) _
(s Kum M= NG J2E =EEE D i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.6 0.0 JtE= 12.8 0.00 84 10105
2 26.8 0.0 EE[A 12.9 0.00 81 1010.0
3 26.7 0.0 JtE= 13.0 0.00 84 1009.6
4 26.9 0.0 EE[A 12.0 0.00 80 1009.7
5 26.0 0.0 EB A 12.1 0.00 85 1009.9
6 26.7 0.0 JteE 18 0.00 82 10105
7 26.6 0.0 EE[A 12.3 0.00 82 1011.2
8 26.9 0.0 JtE= 115 0.27 78 1011.8
9 26.8 0.0 EE[A 11.6 0.78 80 1012.3
10 27.0 0.0 EB A 11.2 0.93 77 10122
11 271 0.0 Hilt® 9.9 1.00 77 1011.8
12 273 0.0 HiE 10.7 0.93 78 1010.9
13 27.0 0.0 b= 10.4 0.80 78 1010.3
14 270 0.0 1A 11.0 0.70 79 1009.8
15 27.2 0.0 Jte= 10.9 0.78 75 1009.5
16 272 0.0 Jt= 10.9 0.87 76 1009.8
17 27.2 0.0 Jt= 115 0.75 78 1010.3
18 27.0 0.0 Jte= 1.3 0.00 77 1010.9
19 21.1 0.0 ETA: 10.1 0.00 76 1011.5 |
20 27.0 0.0 == 9.9 0.00 77 1011.7
21 26.8 0.0 & 10.6 0.00 78 1011.8
22 27.0 0.0 == 9.2 0.00 76 1011.7
23 26.7 0.0 [ 9.2 0.00 79 10115
24 26.8 0.0 E[%: 8.7 0.00 78 1011.3
H&X 27.3 0.0 13.0 85 1012.3
Bz 26.0 0.0 8.7 75 1009.5 |
BH¥ 26.9 111 79 1010.9
BT 0.0 7.81
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H20.2.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EReEHH m.”'s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF5E12A128 ) _
2l Kim & EN JEBES H FR i i KE
B °C mm 165 fiL m.’s h % hPa
i 26.7 0.0 13 8.2 0.00 78 1011.1
2 26.7 0.0 1A 74 0.00 76 10103
3 26.6 0.0 13 8.0 0.00 79 1009.9
4 26.5 0.0 1A 7.2 0.00 81 1009.9
5 26.4 0.0 E[A: 7.0 0.00 80 1010.2
6 26.6 0.0 &= 6.5 0.00 80 1011.1
7 26.9 0.0 Jb= 58 0.07 78 1011.7
8 26.8 0.0 (A 6.1 0.42 81 1012.2
9 272 0.0 tiE 6.4 0.85 79 1012.7 |
10 275 0.0 JtE 6.1 1.00 75 1012.6
1 277 0.0 &= 5.5 1.00 7 1012.0
12 27.7 0.0 Jt= 55 1.00 73 1011.2
13 278 0.0 Jtdt | 4.8 1.00 72 1010.5
14 277 0.0 A2 5.6 1.00 72 10105
15 275 0.0 Jtdt®| 6.1 0.68 73 1010.3
16 274 0.0 JtitE 5.7 0.32 73 1010.6
17 27.0 0.0 JtiLE 6.7 0.00 76 1011.0
18 27.1 0.0 L 6.8 0.00 76 1011.7
19 27.2 0.0 tiE 1.3 0.00 75 1012.2
20 27.1 0.0 it 8.0 0.00 75 1012.7
21 270 0.0 it 7.0 0.00 74 1012.9
22 26.9 0.0 JedLE 70 0.00 75 1013.3
23 26.8 0.0 s 6.9 0.00 74 10133
24 26.8 0.0 1E 6.4 0.00 72 1013.0
B&X 27.8 0.0 8.2 81 1013.3
—B&/D 26.4 0.0 48 71 1009.9
B 271 6.6 76 1011.5
aat 0.0 1.34
BERNT—%
EFSEFCIE] °C AEFHA °C
RE&SE | HI365 36.1 BESE | H202.17 17.7
ARFHH| hPa HEFHH| hPa
RESE | H5322 | 10245 BIESE | H1411.24 | 9367
EFEE HH] _mm/day EREAH] m/s
SABFE H10.11.26 | 2125 BAEE | H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5£128138 ) _
2l Kim & EN JEBES H FR i i KE
B °C mm 165 fiL m.’s h % hPa
i 26.9 0.0 13 74 0.00 72 1012.9
2 26.7 0.0 Jt= 7.8 0.00 74 1012.7
3 26.6 0.0 JedLE 5.6 0.00 72 10125
4 26.8 0.0 it 8.0 0.00 65 1012.6
5 26.8 0.0 JedeE 7.6 0.00 66 1013.0
6 26.8 0.0 itz 7.7 0.00 65 1013.9
7 27.0 0.0 itz 9.0 0.00 66 10145 |
8 27.1 0.0 &= 10.4 0.25 67 1015.0
9 26.2 0.0 1A 10.3 0.93 75 1015.5
10 273 0.0 tx 10.1 0.75 68 1015.1
1 26.8 0.0 &= 10.7 1.00 72 1014.9
12 21.1 0.0 E 11.0 1.00 7 1014.2
13 271 0.0 &= 11.2 0.92 73 1013.8
14 26.9 0.0 1A 10.7 0.97 69 1013.6
15 26.8 0.0 13 12.0 0.95 68 10134
16 26.8 0.0 1A 12.6 0.92 66 10135
17 26.8 0.0 E[A: 125 0.32 66 1013.8
18 26.8 0.0 &= 12.6 0.00 67 10143
19 26.9 0.0 E[3: 13.6 0.00 70 1015.0
20 26.9 0.0 13 12.3 0.00 70 1015.4
21 270 0.0 & 133 0.00 71 1015.4
22 26.9 0.0 RiLE 133 0.00 73 1015.6
23 26.9 0.0 1A 135 0.00 73 10155
24 270 0.0 HE 12.2 0.00 74 1015.4
B&X 27.3 0.0 13.6 75 1015.6
Bz 26.2 0.0 5.6 65 10125 |
B 26.9 10.6 70 1014.2
Sar 0.0 8.01
BERNT—%
AEEFEHH °C AEFHA °C
RE&SE | HI365 36.1 BESE | H202.17 17.7
ARFHH| hPa HEFHH| hPa
RESE | H5322 | 10245 BIESE | H1411.24 | 9367
EReEHH| _mm/day EREAH] m/s
SABFE H10.11.26 | 2125 BAEE | H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF5E128148 ) _
ig#] Sum M= NG J2E B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.7 0.0 JtE= 13.2 0.00 74 1015.2
2 26.8 0.0 HiLE 12.6 0.00 74 1015.1
3 26.8 0.0 JtE= 12.8 0.00 73 10148
4 26.7 0.0 HiLE 125 0.00 74 10147
5 26.9 0.0 EEAd 12.2 0.00 69 1014.9
6 27.0 0.0 JteE 18 0.00 69 1015.7
7 26.8 0.0 HiLE 11.8 0.00 73 1015.9
8 27.1 0.0 JtE= 111 0.55 67 1016.4
9 273 0.0 EE[A 11.3 0.82 70 1016.6
10 27.1 0.0 EB A 12.2 1.00 69 1016.5
11 27.0 0.0 Jt= 126 1.00 68 1015.9
12 26.9 0.0 HiE 12.1 0.98 68 1015.0
13 272 0.0 JtE= 9.6 1.00 65 1014.6
14 26.8 0.0 EE[A: 10.3 1.00 69 1014.2
15 26.7 0.0 b= 9.9 0.93 70 1013.9
16 26.7 0.0 Hit® 10.6 0.67 73 1014.1
17 26.9 0.0 EEAd 116 0.07 76 1014.1
18 26.8 0.0 L 11.8 0.00 76 1014.2
19 26.8 0.0 RIiE 1.7 0.00 77 1014.9
20 26.7 0.0 JtE= 12.1 0.00 76 1015.3
21 26.8 0.0 EE[A 10.7 0.00 75 1015.6
22 26.8 0.0 EB A 12.2 0.00 75 1015.6
23 26.7 0.0 Jt= 1.2 0.00 77 1015.6
24 26.6 0.0 HE 11.6 0.00 76 1015.3
HExA 27.3 0.0 13.2 77 1016.6
Bz 26.6 0.0 9.6 65 1013.9
H ¥ 26.9 1.6 72 1015.2
a&T 0.0 8.02
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5E12A8158 ) _
ig#] Sum M= NG J2E B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.5 0.0 JtE= 11.7 0.00 77 1014.9
2 26.5 0.0 EE[A 114 0.00 75 1014.6
3 26.6 0.0 JtE= 116 0.00 75 1014.1
4 26.4 0.0 EE[A 116 0.00 75 1013.6
5 26.4 0.0 EB A 118 0.00 73 1013.6
6 26.5 0.0 JteE 1.0 0.00 73 1014.2
7 26.6 0.0 EE[A 11.1 0.00 73 1014.4
8 26.5 0.0 JtE= 11.2 0.43 74 10148
9 26.6 0.0 EE[A 11.1 0.90 71 1015.1
10 26.8 0.0 b= 10.7 0.88 73 1014.7
11 26.7 0.0 b= 10.2 1.00 74 1014.3
12 26.8 0.0 HlE 10.4 0.90 71 1013.6
13 27.0 0.0 JtE= 10.2 0.98 73 1012.7
14 27.0 0.0 EB 3 9.8 1.00 74 1012.2
15 26.9 0.0 Jt= 9.8 0.80 76 1012.2
16 27.1 0.0 Hit® 9.0 0.65 77 1012.3
17 27.0 0.0 EEAd 10.3 0.12 74 10125
18 27.0 0.0 [ 9.6 0.00 76 1013.1
19 26.9 0.0 HiE 8.8 0.00 75 1013.6
20 27.0 0.0 JtE= 8.2 0.00 74 1014.1
21 27.1 0.0 EB 78 0.00 76 1014.2
22 27.1 0.0 CEAd 7.6 0.00 75 1014.1
23 27.1 0.0 HiLE 76 0.00 75 1014.1
24 27.0 0.0 tE 7.8 0.00 76 1014.1
HExA 27.1 0.0 11.8 77 1015.1
B/ 26.4 0.0 7.6 71 1012.2
- HEW 26.8 10.0 74 1013.8
aat 0.0 7.66
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SARE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5£128160 ) _
(s Kum S NG J2E =EEE D i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.9 0.0 L 8.1 0.00 75 1013.5
2 26.9 0.0 EE[A: 8.1 0.00 75 1013.1
3 26.7 0.0 EB A 8.4 0.00 75 10125
4 26.7 0.0 1A 8.8 0.00 77 1012.3
5 26.7 0.0 JtE= 9.1 0.00 78 10125
6 26.7 0.0 Jte= 9.0 0.00 75 1012.8
7 26.9 0.0 E[%: 10.0 0.00 71 10135 |
8 27.1 0.0 == 9.7 0.27 76 1013.7
9 274 0.0 A 9.3 1.00 73 1014.4
10 27.3 0.0 JtE= 9.3 1.00 76 1014.2
11 27.3 0.0 Jt= 8.6 1.00 73 1013.7
12 274 0.0 ET%: 8.0 1.00 75 1012.7 |
13 27.3 0.0 Jte= 8.3 0.98 77 1011.9
14 275 0.0 Jt= 8.7 1.00 79 1011.6
15 27.3 0.0 JtE= 8.1 0.92 80 1011.6
16 272 0.0 EE[A 8.0 1.00 81 1011.8
17 27.3 0.0 EB A 7.9 0.05 81 1012.2
18 27.3 0.0 [ 8.3 0.00 82 1012.5
19 273 0.0 HiE 7.9 0.00 81 1013.1
20 27.3 0.0 JtE= 78 0.00 81 1013.7
21 274 0.0 HiLE 7.2 0.00 81 1014.0
22 27.3 0.0 CEAd 75 0.00 81 1014.0
23 27.2 0.0 jt= 76 0.00 83 1014.0
24 21.1 0.0 E[%: 7.9 0.00 83 1014.0
H&X 27.5 0.0 10.0 83 1014.4
H &/ 26.7 0.0 7.2 73 1011.6
 BEH 271 84 78 10131
a&T 0.0 8.22
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H20.2.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EReEHH m.”'s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF5E12817H ) _
2l Kim & EN JEBES H FR i i KE
B °C mm 165 fiL m.’s h % hPa
i 27.2 0.0 13 7.9 0.00 80 1013.8
2 27.0 0.0 1A 8.8 0.00 80 1013.6
3 27.0 0.0 13 8.8 0.00 81 1013.3
4 27.0 0.0 E[%: 8.4 0.00 80 1013.4
5 26.8 0.0 E[A: 9.1 0.00 80 10137
6 271 0.0 &= 9.2 0.00 81 1014.4
7 27.0 0.0 E[%: 9.1 0.00 79 1014.9
8 27.2 0.0 RiLE 9.4 0.53 78 1015.6
9 274 0.0 A 9.6 1.00 78 1016.0
10 274 0.0 tx 10.2 1.00 77 1015.7
1 275 0.0 & 10.1 1.00 75 1015.2
12 274 0.0 ET%: 9.5 1.00 75 10145 |
13 274 0.0 &= 10.0 1.00 77 1014.0
14 274 0.0 Jt= 108 1.00 76 10137 |
15 273 0.0 &3 11.3 1.00 74 1013.6
16 272 0.0 Jt= 1.3 0.27 76 101338
17 271 0.0 JE 12.3 0.00 75 1014.4
18 27.3 0.0 &= 123 0.00 76 1015.0
19 21.1 0.0 E[3: 125 0.00 79 1015.7 |
20 27.0 0.0 13 132 0.00 78 1016.2
21 26.8 0.0 (A 13.9 0.00 77 1016.6
22 26.8 0.0 tx 145 0.00 77 1016.2
23 26.5 0.0 & 142 0.00 80 1016.2
24 26.5 0.0 E[%: 13.8 0.00 78 1015.9
B&EX 215 0.0 14.5 81 1016.6
—B&/D 26.5 0.0 7.9 74 1013.3
B 271 10.8 78 1014.8
aat 0.0 7.80
BERNT—%
AEEFEHH °C AEFHA °C
RE&SE | HI365 36.1 BESE | H202.17 17.7
ARFHH| hPa HEFHH| hPa
RESE | H5322 | 10245 BIESE | H1411.24 | 9367
EReEHH| _mm/day EREAH] m/s
SABFE H10.11.26 | 2125 BAEE | H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF5&E12A180 ) _
ig#] Sum M= NG J2E B BE B i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.4 0.0 Jt= 14.4 0.00 78 1015.6
2 26.7 0.0 Jt= 14.2 0.00 77 1015.1
3 25.6 0.0 = 146 0.00 80 1014.9
4 26.0 0.0 1A 144 0.00 81 1015.0
5 26.4 0.0 JtE= 138 0.00 78 1015.1
6 26.5 0.0 Jte= 146 0.00 75 1015.9
7 26.4 0.0 E[%: 14.9 0.00 78 1016.5 |
8 26.4 0.0 Jte= 154 0.30 79 10174
9 26.4 0.0 = 15.4 0.52 79 1017.5
10 26.4 0.0 JtE= 155 0.82 78 1017.7
11 26.0 0.0 B 154 0.83 79 1017.0
12 26.2 0.0 ET%: 15.7 0.68 71 1016.2
13 26.2 0.0 Jte= 15.2 0.58 76 1015.1
14 26.2 0.0 Jt= 15.6 1.00 74 10147
15 26.1 0.0 HiLE 15.6 0.20 76 10145
16 26.1 0.0 Jt= 16.0 0.10 77 10145
17 26.1 0.0 Jt= 148 0.13 75 1015.1
18 26.2 0.0 Jt=E 146 0.00 76 1015.7
19 26.2 0.0 HiE 15.0 0.00 77 1016.4
20 25.0 0.0 JtE= 15.3 0.00 80 1016.8
21 26.3 0.0 EE[A 15.1 0.00 74 1016.7 |
22 26.5 0.0 EB A 14.2 0.00 76 1016.5
23 26.0 0.0 Jt= 141 0.00 78 1016.3
24 25.7 0.0 HE 13.7 0.00 81 1016.0
HExA 26.7 0.0 16.0 81 1017.7
B/ 25.0 0.0 13.7 74 10145
- HEW 26.2 14.9 77 1015.9
BT 0.0 5.16
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
EREAR mm/day EREAH m./’s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5E128198 ) _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 25.8 0.0 Jt= 14.0 0.00 79 1015.7
2 25.9 0.0 1A 13.4 0.00 77 1015.4
3 25.6 0.0 Jt= 143 0.00 81 1015.2
4 24.6 0.0 1A 13.7 0.00 87 1015.0
5 26.0 0.0 HiLE 14.0 0.00 79 1015.3
6 25.9 0.0 L 14.3 0.00 79 1015.9
7 26.1 0.0 CE[A 13.6 0.00 78 10165
8 26.0 0.0 L 13.6 0.02 80 1017.1
9 26.2 0.0 EE[A 13.7 0.05 79 1017.1
10 26.1 0.0 HiLE 14.0 0.42 79 1016.9
11 26.2 0.0 Hilt® 125 0.73 77 1016.3
12 25.7 0.0 HiE 13.8 0.53 84 1015.4
13 24.6 0.0 Jt= 13.9 0.80 85 1014.4
14 245 0.0 Jt= 14.4 0.63 84 1013.9
15 254 0.0 HiLE 141 0.20 84 1013.4
16 25.7 0.0 EE[A 141 0.43 83 10135 |
17 254 0.0 EB % 138 0.02 85 1013.9
18 25.7 0.0 Jt= 143 0.00 85 10143
19 25.4 0.0 HiE 134 0.00 87 1014.8
20 25.9 0.0 Jt= 131 0.00 87 10148
21 25.6 0.0 EE[A 12.9 0.00 88 1015.0
22 248 0.0 EB % 13.0 0.00 90 1014.7
23 25.9 0.0 = 12.0 0.00 88 1014.3
24 26.3 0.0 BE 1.3 0.00 87 1013.9
HExA 26.3 0.0 14.4 90 1017.1
B/ 245 0.0 11.3 77 1013.4
- HEW 25.6 136 83 1015.1
Bt 0.0 3.83
BERNT—%
EEFAB °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F54£128208 ) _
ig#] Sum M= NG J2E B BE B i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.1 0.0 JtE= 115 0.00 86 10135
2 26.0 0.0 EE[A 11.1 0.00 85 1012.8
3 26.6 0.0 EB A 9.4 0.00 83 1012.1
4 26.7 0.0 EE[A 8.8 0.00 82 1011.9
5 26.3 0.0 = 7.0 0.00 86 1012.2
6 26.7 0.0 = 73 0.00 83 1012.6
7 25.9 0.0 = 7.7 0.00 89 1013.1
8 26.8 0.0 = 6.1 0.08 84 1013.7
9 27.0 0.0 = 7.3 0.60 84 1013.9
10 274 0.0 = 7.0 0.90 81 1013.6
11 275 0.0 = 6.7 1.00 81 1013.0
12 275 0.0 = 5.4 1.00 81 1012.2
13 27.6 0.0 = 5.8 1.00 80 1011.4
14 277 0.0 EeE 59 1.00 79 1011.1
15 275 0.0 = 5.9 0.98 82 1010.6
16 274 0.0 = 56 0.93 81 1010.6
17 27.1 0.0 HiLE 5.2 0.80 83 1011.1
18 27.1 0.0 [ 6.0 0.00 84 1011.4
19 26.5 0.0 HiE 8.9 0.00 89 1011.7
20 26.7 0.0 JtE= 75 0.00 88 1012.0
21 26.7 0.0 EE[A 8.6 0.00 87 1012.1
22 26.8 0.0 EB A 9.1 0.00 86 1012.0
23 27.0 0.0 Jt= 838 0.00 88 1012.0
24 26.1 0.0 HE 7.6 0.00 91 10115
H&X 27.7 0.0 11.5 91 1013.9
—B&/D 25.9 0.0 5.2 79 1010.6
H ¥ 26.9 75 84 1012.2
a&T 0.0 8.29
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EREAH m./’s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF5E12A218 ) _
ig#] =@ M= &[] JRER B BE B i Ut
i=3 °C mm 16541 m./'s h % hPa
1 25.8 0.0 mit® 7.9 0.00 93 1011.0
2 247 3.0 Ek 9.1 0.00 95 10105 |
3 255 30 = 25 0.00 94 1009.8
4 25.1 5.0 tiE 14 0.00 95 1009.8
5 243 130 it 8.9 0.00 97 1010.1
6 248 3.0 itz 5.1 0.00 96 1011.0
7 249 1.0 iz 8.9 0.00 95 1011.3
8 242 35 L 10.8 0.00 95 1012.0
9 241 8.0 tiE 12.6 0.00 97 1012.2
10 244 50 tE 9.3 0.00 96 1013.1
11 240 8.0 Jt= 5.9 0.00 97 10125
12 24.6 2.0 iz 44 0.15 95 10115 |
13 25.3 05 = 2.9 0.88 89 1011.2
14 25.7 0.0 BE 3.2 0.58 86 1011.0
15 26.2 0.0 b= 2.3 0.93 83 1010.7
16 265 0.0 B 2.7 0.87 81 1011.0
17 26.4 0.0 Gk 2.8 0.87 84 10115
18 26.3 0.0 EE 1.7 0.00 86 1012.0
19 26.3 0.0 i3] 1.4 0.00 87 1013.1
20 26.5 0.0 It 15 0.00 86 1013.4
21 26.4 0.0 it 1.6 0.00 86 1013.6
22 26.3 0.0 It 3.9 0.00 86 1013.8
23 26.4 0.0 Jtib = 2.9 0.00 84 1013.9
24 25.1 0.0 itz 11.7 0.00 91 1013.9
HExA 26.5 13.0 12.6 97 1013.9
BRI/ 240 0.0 14 81 1009.8
H¥1y 25.4 5.2 90 1011.8
a5t 55.0 4.28
BERNT—%
SREHH °c EFEEENE °C
S=4%8 [ HI365 36.1 2ESE [ H20217 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIESE [ H14.11.24 936.7
EREAR mm/day EREAH m./’s
SXAmE[ H10.11.26 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SF5E12A228 ) _
2l Kim & EN) JEBES H FR i i KE
B °C mm 165 fiL m.’s h % hPa
1 24.6 0.0 itz 14.0 0.00 92 1013.7
2 24.6 0.0 @2 15.0 0.00 91 10135
3 246 0.0 e[4S 172 0.00 87 1012.9
4 239 0.0 & 17.6 0.00 92 1013.1
5 24.7 0.0 E[A: 17.9 0.00 86 10135
6 24.7 0.0 &= 17.4 0.00 83 10143
7 235 0.0 E[%: 16.9 0.00 90 1015.1
8 23.9 0.0 13 16.8 0.00 90 1015.8
9 24.6 0.0 1A 16.0 0.00 85 1016.4
10 245 0.0 tx 16.9 0.07 88 1016.5
1 246 0.0 &= 16.7 0.10 81 10165
12 236 0.0 i 16.4 0.00 90 1016.0
13 234 0.0 &= 17.1 0.30 89 1015.3
14 242 0.0 1A 16.0 0.13 85 1015.1
15 243 0.0 13 16.2 0.00 85 1015.2
16 243 0.0 1A 16.1 0.08 82 1015.6
17 237 0.0 (2[4 152 0.00 88 1016.5
18 232 0.0 s 16.1 0.00 91 1017.4
19 238 0.0 ETA: 17.0 0.00 87 1018.1
20 234 0.0 13 17.9 0.00 89 10185
21 237 0.0 1A 17.8 0.00 82 1018.6
22 236 0.0 tx 17.6 0.00 85 1018.9
23 244 0.5 & 16.3 0.00 79 1018.9
24 24.1 0.0 E[%: 16.1 0.00 82 1018.7 |
B&X 24.7 0.5 17.9 92 1018.9
A&/ 232 0.0 14.0 79 1012.9
BEES5 241 16.6 87 1016.0
aat 0.5 0.68
BERNT—%
EFSEFCIE] °C AEFHA °C
RE&SE | HI365 36.1 BESE | H202.17 17.7
ARFHH| hPa HEFHH| hPa
RESE | H5322 | 10245 BIESE | H1411.24 | 9367
EFEE HH] _mm/day EREAH] m/s
SABFE H10.11.26 | 2125 BAEE | H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5&£128238 ) _
ig#] Sum M= NG J2E B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 245 0.0 L 14.6 0.00 77 1018.8
2 240 0.0 s 158 0.00 80 1018.6
3 238 0.0 Jt= 158 0.00 80 10185
4 241 0.5 1A 13.9 0.00 86 10185
5 232 05 JtE= 16.2 0.00 87 1018.8
6 237 0.0 Jte= 172 0.00 88 1019.3
7 231 0.5 E[%: 17.8 0.00 87 10195
8 242 0.0 Jte= 17.0 0.05 81 1019.8
9 246 0.0 EE[A 16.7 0.08 75 1020.0
10 247 0.0 tE 17.0 0.58 76 1019.7
11 25.1 0.0 B 16.3 0.77 73 1019.1
12 25.0 0.0 E 16.8 0.32 69 1018.4
13 24.8 0.0 Jte= 16.7 0.00 70 1017.6
14 249 0.0 Jt= 16.1 0.07 74 10175
15 249 0.0 HE 16.1 0.30 74 1017.1
16 247 0.0 HiLE 16.4 0.18 77 1017.3
17 250 0.0 1E 17.0 0.00 75 1017.4
18 248 0.0 L 17.1 0.00 79 1017.9
19 249 0.0 RIiE 16.7 0.00 79 1018.4
20 25.0 0.0 HE 16.5 0.00 81 1018.9
21 25.1 0.0 & 17.0 0.00 83 1018.8
22 25.1 0.0 JtE= 16.5 0.00 79 10185
23 2438 0.0 Ril= 16.8 0.00 79 1018.1
24 25.0 0.0 HE 16.6 0.00 82 1017.8
HExA 25.1 0.5 17.8 88 1020.0
BEEDD 231 0.0 13.9 69 1017.1
H ¥ 245 16.4 79 10185
= 15 2.35
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SARE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5E128248 ) _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 25.2 0.0 JtE= 16.4 0.00 83 10174
2 25.0 0.0 EE[A 16.3 0.00 81 1016.7
3 25.1 0.0 EB 3 16.0 0.00 82 1016.4
4 248 0.0 1A 15.6 0.00 84 1016.1
5 24.6 0.0 Jt= 15.4 0.00 87 1016.2
6 25.0 0.0 Jt=E 15.3 0.00 87 1016.5
7 2438 0.0 EE[A 14.9 0.00 88 1017.1
8 24.6 0.0 JtE= 14.9 0.00 89 10174
9 25.1 0.0 EE[A 14.9 0.00 90 1017.9
10 247 0.0 HiLE 1.9 0.00 92 1018.0
11 245 1.0 HiLE 9.6 0.52 93 1017.1
12 236 15 ENE 115 0.60 95 1016.0
13 25.3 0.5 Jte= 9.2 0.78 91 1014.8
14 255 0.0 RiLE 8.9 1.00 88 10143
15 25.6 0.0 JtE= 8.9 0.98 90 1013.8
16 26.0 0.0 EE[A 8.7 0.97 87 10137
17 25.9 0.0 EB % 75 0.85 90 10139
18 26.0 0.0 [ 8.6 0.00 90 1014.6
19 25.9 0.0 HiE 8.0 0.00 91 1015.0
20 25.9 0.0 JtE= 8.7 0.00 91 1015.1
21 25.8 0.0 EE[A 7.9 0.00 91 1015.4
22 25.9 0.0 = 7.0 0.00 89 1015.2
23 25.9 0.0 miLE 7.0 0.00 90 1014.9
24 25.9 0.0 = 7.7 0.00 91 1014.4
HExA 26.0 1.5 16.4 95 1018.0
—B&/D 236 0.0 7.0 81 1013.7 |
H¥EH 25.3 1.3 89 1015.7
Bt 3.0 5.70
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5E12A258 ) _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 25.9 0.0 = 6.9 0.00 90 1014.1
2 26.2 0.0 56 0.00 89 1013.8
3 26.0 0.0 Jt= 47 0.00 89 1013.6
4 25.6 0.0 EE[A 5.1 0.00 90 1013.4
5 25.6 0.0 EB % 5.4 0.00 87 1013.7
6 25.9 0.0 = 38 0.00 88 1014.2
7 26.4 0.0 = 50 0.00 83 1014.8
8 27.0 0.0 R R 5.6 0.82 76 1015.5
9 272 0.0 = 5.1 1.00 74 1015.8
10 27.3 0.0 = 55 1.00 75 1015.7
11 26.8 0.0 6.3 1.00 78 1015.3
12 26.5 0.0 R 75 1.00 81 10143
13 26.3 0.0 Jt= 8.1 1.00 83 1013.6
14 26.4 0.0 EE[A: 7.6 1.00 83 1013.0
15 26.4 0.0 Jt= 8.2 1.00 82 1012.9
16 26.2 0.0 EE[A 8.6 0.97 84 10133
17 26.3 0.0 EB % 8.8 0.77 84 1013.8
18 26.3 0.0 Jt= 8.6 0.00 85 1014.4
19 26.3 0.0 HiE 9.2 0.00 85 1015.1
20 25.8 0.0 Jt= 10.0 0.00 87 1015.7
21 25.7 0.0 EE[A 115 0.00 85 1016.1
22 25.6 0.0 EB % 12.4 0.00 85 1016.2
23 254 0.0 Jt= 118 0.00 85 1016.2
24 255 0.0 HE 125 0.00 84 1016.2
HExA 27.3 0.0 12.5 90 1016.2
B/ 254 0.0 38 74 1012.9
- HEW 26.2 7.7 84 1014.6
aEt 0.0 9.56
BERNT—%
£EFHH °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F54£128260 ) _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 254 0.0 JtE= 12.7 0.00 85 1015.9
2 252 0.0 HiLE 12.2 0.00 86 1015.8
3 25.2 0.0 JtE= 12.3 0.00 84 10155
4 25.1 0.0 EE[A 12.6 0.00 83 1015.4
5 25.1 0.0 EB % 12.4 0.00 84 1015.7
6 25.1 0.0 JteE 12.4 0.00 83 1016.3
7 25.0 0.0 HiLE 13.7 0.00 82 1017.0
8 25.1 0.0 JtE= 12.8 0.03 82 1017.8
9 25.3 0.0 EE[A 13.2 0.38 82 1018.1
10 254 0.0 HiLE 12.9 1.00 81 1018.2
11 255 0.0 Jt= 12.0 1.00 81 1017.9
12 25.6 0.0 HiLE 12.6 1.00 80 1017.2
13 25.6 0.0 JtE= 133 0.93 78 1016.4
14 254 0.0 EE[A: 132 0.93 81 1016.2
15 255 0.0 JtE= 12.8 0.63 78 1016.2
16 254 0.0 HiLE 132 0.50 81 10165 |
17 25.3 0.0 EB % 12.7 0.45 82 1017.1
18 254 0.0 b= 12.9 0.00 84 1017.7
19 25.2 0.0 1E 135 0.00 83 1018.2
20 25.2 0.0 Jte= 133 0.00 84 1018.7
21 25.3 0.0 HlE 134 0.00 82 1019.0
22 25.3 0.0 EB % 13.7 0.00 82 1019.0
23 25.1 0.0 Jt= 132 0.00 84 10188
24 25.0 0.0 HE 13.1 0.00 83 1018.6
HExA 25.6 0.0 13.7 86 1019.0
—B&/D 25.0 0.0 12.0 78 1015.4
H¥EH 25.3 12.9 82 1017.2
aEt 0.0 6.85
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5E12821H ) _
ig#] Sum M= &[] JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 25.3 0.0 Jt= 12.7 0.00 81 1018.4
2 252 0.0 EE[A 12.3 0.00 81 1018.0
3 25.2 0.0 Jt= 12.4 0.00 80 10175
4 25.0 0.0 EE[A 12.0 0.00 80 1017.3
5 25.1 0.0 EB % 12.3 0.00 80 1017.6
6 25.1 0.0 Jt= 12.4 0.00 79 10182
7 25.1 0.0 EE[A 1.7 0.00 78 1018.8
8 25.3 0.0 Jt= 1.8 0.03 80 1019.1
9 255 0.0 EE[A 12.1 0.93 81 1019.2
10 252 0.0 HiLE 13.4 0.70 84 1018.9
11 25.6 0.0 Jt= 131 1.00 82 1018.4
12 25.7 0.0 HiE 13.6 1.00 79 1017.6
13 25.7 0.0 Jt= 133 0.72 82 1016.9
14 26.0 0.0 EE[A: 128 0.43 80 1016.6
15 25.9 0.0 Jt= 13.9 0.08 82 1016.6
16 255 0.0 EE[A 13.6 0.15 85 1017.0
17 25.7 0.0 EB % 13.7 0.00 83 1017.3
18 254 0.0 HiLE 12.9 0.00 86 1017.6
19 25.1 0.0 Jt= 13.7 0.00 88 1018.2
20 24.1 0.0 Jt= 13.9 0.00 93 1018.7
21 245 0.0 EE[A 14.2 0.00 90 1019.0
22 25.3 0.0 EB % 132 0.00 88 1019.0
23 25.2 0.0 HiLE 140 0.00 87 10185
24 25.0 0.0 tE 13.4 0.00 89 1018.1
HExA 26.0 0.0 14.2 93 1019.2
B/ 241 0.0 1.7 78 1016.6
- HEW 25.3 130 83 1018.0
aat 0.0 5.04
BERNT—%
£EFHH °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F54£128280 ) _
ig#] Sum M= &[] JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 249 0.0 Jt= 141 0.00 90 1017.8
2 248 0.0 B[ 13.9 0.00 88 1017.1
3 25.2 0.0 Jt= 133 0.00 87 1016.7
4 252 0.0 EE[A 14.3 0.00 84 1016.6
5 255 0.0 EB % 14.2 0.00 85 1016.7
6 254 0.0 Jt= 13.9 0.00 85 1017.1
7 25.6 0.0 RILE 12.7 0.00 85 1017.7
8 25.7 0.0 = 12.6 0.55 84 1018.0
9 26.0 0.0 = 10.6 1.00 84 1018.1
10 26.0 0.0 = 105 1.00 84 1018.1
11 26.2 0.0 10.2 1.00 83 1017.6
12 26.0 0.0 R 10.9 0.97 85 1016.9
13 26.1 0.0 Jt= 1.3 1.00 86 1016.1
14 26.1 0.0 = 10.2 0.72 83 1015.7
15 26.6 0.0 7.4 0.50 82 10155
16 26.2 0.0 BEiLE 9.1 0.88 83 1015.7
17 26.1 0.0 EB % 10.0 0.85 83 1015.8
18 25.9 0.0 Jt= 10.2 0.00 86 1015.9
19 26.0 0.0 HiE 10.8 0.00 84 10165
20 26.1 0.0 Jt= 10.3 0.00 82 1016.9
21 26.0 0.0 EE[A 10.6 0.00 83 1017.1
22 25.8 0.0 EB % 10.7 0.00 82 1017.2
23 25.9 0.0 Jt= 10.4 0.00 81 1017.0
24 25.8 0.0 BILE 9.9 0.00 82 1016.7
HExA 26.6 0.0 14.3 90 1018.1
B/ 248 0.0 7.4 81 10155
- HEW 25.8 13 84 1016.9
aat 0.0 8.47
BERNT—%
£EFHH °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5E128208 ) _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 25.7 0.0 Jt= 9.9 0.00 84 1016.6
2 25.7 0.0 EE[A 10.2 0.00 83 1016.2
3 25.7 0.0 JtE= 10.4 0.00 82 1015.7
4 25.7 0.0 EE[A 10.4 0.00 82 1015.6
5 25.6 0.0 EB % 10.7 0.00 82 1015.7
6 25.7 0.0 HiLE 1.2 0.00 80 1016.0
7 25.7 0.0 Jt= 11.6 0.00 81 1016.7 |
8 25.9 0.0 JtE= 1.7 0.02 79 10174
9 25.9 0.0 EE[A 12.2 0.85 79 1017.7
10 25.9 0.0 b= 12.9 0.90 77 10174
11 25.6 0.0 B 12.4 1.00 82 1016.8
12 255 0.0 E 12.8 1.00 82 1016.1
13 254 0.0 Jt= 12.4 1.00 83 1015.4
14 253 0.0 1A 12.6 0.93 81 1014.9
15 25.2 0.0 Jt= 131 0.60 80 1014.8
16 252 0.0 EE[A 125 0.75 82 1015.0
17 25.1 0.0 bE 12.8 0.27 81 10155
18 249 0.0 Jt=E 12.6 0.00 84 1015.9
19 25.0 0.0 HiE 13.2 0.00 83 1016.4
20 25.0 0.0 JtE= 12.9 0.00 84 1016.7
21 252 0.0 EE[A 12.8 0.00 81 1016.6
22 25.0 0.0 EB % 1.9 0.00 80 1016.8
23 247 0.0 Jt= 125 0.00 81 1016.3
24 249 0.0 HE 121 0.00 81 1016.1
HExA 25.9 0.0 13.2 84 1017.7
B/ 247 0.0 9.9 77 1014.8
- HEW 25.4 12.0 81 1016.2
&t 0.0 7.32
EEE BT —%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
FRe% A H] mm/day ERmEAH] m/s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F54£128308 ) _
ig#] Sum M= NG J2E B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 25.1 0.0 JtE= 12.2 0.00 80 1016.1
2 25.0 0.0 EE[A 12.3 0.00 81 1015.4
3 25.1 0.0 JtE= 115 0.00 81 1015.2
4 25.2 0.0 EE[A 11.8 0.00 79 1015.2
5 25.3 0.0 EB A 12.1 0.00 77 1015.3
6 254 0.0 JteE 123 0.00 75 1015.7
7 255 0.0 EE[A 125 0.00 75 1016.1
8 25.6 0.0 JtE= 12.0 0.65 78 1016.5
9 25.4 0.0 EE[A 1.7 0.62 82 1016.7
10 25.7 0.0 EB A 134 0.98 76 1016.3
11 25.6 0.0 Jt= 125 1.00 79 1015.7
12 255 0.0 HiE 12.8 1.00 80 1014.9
13 25.6 0.0 JtE= 133 1.00 78 1014.1
14 25.6 0.0 EE[A: 12.4 1.00 79 1013.9
15 25.8 0.0 JtE= 125 0.82 78 10138
16 25.9 0.0 EE[A 12.4 0.88 81 1014.0
17 25.7 0.0 EB A 13.3 0.08 81 10138
18 25.8 0.0 [ 132 0.00 81 10143
19 25.9 0.0 HiE 125 0.00 81 1015.0
20 25.8 0.0 JtE= 12.7 0.00 82 1015.1
21 26.2 0.0 = 12.2 0.00 79 1015.3
22 26.0 0.0 = 121 0.00 80 1015.2
23 26.0 0.0 = 114 0.00 80 1014.9
24 25.9 0.0 = 10.9 0.00 81 1014.2
HExA 26.2 0.0 13.4 82 1016.7
—B&/D 25.0 0.0 10.9 75 1013.8
H ¥ 25.6 12.3 79 1015.1
Bt 0.0 8.03
BERNT—%
EEFAB °C AEFHH °C
S=52 [ HI365 36.1 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SARE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

£F5E12A310 ) _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 26.0 0.0 = 10.1 0.00 81 1013.9
2 26.1 0.0 = 111 0.00 79 1013.1
3 26.2 0.0 HEE 10.2 0.00 80 10125
4 26.2 0.0 B R 10.0 0.00 82 1012.4
5 26.4 0.0 Eb 105 0.00 81 1012.4
6 26.7 0.0 - 10.3 0.00 78 1012.9
7 26.8 0.0 I 8.0 0.00 80 1013.9
8 26.9 0.0 HEE 7.1 0.52 81 1014.6
9 273 0.0 ENE 6.2 0.82 78 1015.1
10 275 0.0 HEE 6.2 0.73 75 1014.9
11 27.6 0.0 - 6.2 1.00 75 10145
12 275 0.0 BB 5.6 1.00 74 1013.9
13 282 0.0 I 43 1.00 70 1012.9
14 27.6 0.0 GE 3.9 1.00 70 1012.3
15 27.6 0.0 = 3.4 1.00 70 1012.1
16 26.5 0.0 HiLE 40 1.00 82 1012.1
17 26.5 0.0 == 5.2 0.13 86 1012.6
18 26.2 0.0 Jt= 50 0.00 88 10133
19 26.1 0.0 HiE 55 0.00 89 1013.6
20 26.0 0.0 L 7.0 0.00 88 1013.8
21 26.2 0.0 RILE 59 0.00 87 1014.0
22 26.1 0.0 EB % 5.9 0.00 87 1014.2
23 25.6 0.0 Jt= 5.4 0.00 90 1014.1
24 25.9 0.0 HE 58 0.00 87 1013.8
HExA 28.2 0.0 11.1 90 1015.1
B/ 25.6 0.0 3.4 70 1012.1
- HEW 26.7 6.8 81 1013.5
a&T 0.0 8.20
BERNT—%
£EFHH °C AEFHH °C
E=%8 [ HI365 36.1 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —24%. 563.9.25~H22.6 30D BB E A RIZLTLET .




